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QUESTION 1

New content is not visible on the website when accessing it via the dispatcher.

Replication from author to publish works fine Dispatcher flush agent is present under /etc/replication/agents.author on
the Publish instance, and enabled The checkbox for Dispatcher flush agent configuration is ticked for enabled, when
reviewed on the author instance Rules in the dispatcher configuration are correct

Which problem with the dispatcher flush agent is causing this issue?

A. It does not have enough permissions to receive the activation.

B. It is not configured properly in the dispatcher configuration.

C. It is configured properly but uses the incorrect transport user.

D. It is configured properly but located in the wrong path.

Correct Answer: A

QUESTION 2

A DevOps Engineer configures a delay in the out of the box online backup.
What is the result of a delay that is too large?

A. Excessive reads of the repository occur.

B. The backup takes more than 24 hours.

C. The CPU usage is reduced too much.

D. Too many file writes occur.

Correct Answer: B

Reference: https://helpx.adobe.com/experience-manager/6-3/sites/administering/using/backup-
andrestore.html#OnlineBackup

QUESTION 3

A DevOps Engineer is configuring a non production deployment pipeline. The code quality is checked in the build
pipeline. A security check is configured in the deployment pipeline to identify any major security issues before a
production deployment.

Which other check should be executed before deployment to production?

A. A dispatcher invalidation rule check for replication functionality

ADO0-E106 VCE Dumps | ADO-E106 Practice Test | ADO-E106 Study Guide 2/4


https://www.geekcert.com/ad0-e106.html
https://www.geekcert.com/ad0-e106.html
https://www.geekcert.com/ad0-e106.html

VCE & PDF https://lwww.geekcert.com/ad0-e106.html
2024 Latest geekcert ADO-E106 PDF and VCE dumps Download

GeekCert.com

B. An OSGi configuration validity check for the new release
C. A sling models validation check for the new release
D. A performance check for the actual release functionality

Correct Answer: D

QUESTION 4

A DevOps Engineer receives notifications from the monitoring system about a bundle being stuck in
“installed” state.

A new version of an OSGi bundle was recently deployed.

All author and publish instances are affected.

Manually starting the bundle does not solve the issue.

What prevents the OSGi bundle from being activated?

A. At least one OSGi component throws an exception during activation.

B. At least one OSGi component has ConfigurationPolicy set to "required” and no configuration is provided.
C. At least one OSGi bundle marked as a dependency is not available in the instances.

D. At least one OSGi component reference is unsatisfied.

Correct Answer: A

QUESTION 5

A DevOps Engineer must configure a production deployment pipeline. The AEM environment consists of one author
instance, two publish instances, and two dispatcher instances. A load balancer and CDN are also leveraged.

In combination with load balancing, which step is required to make sure that the site is available during deployment?
A. Point the CDN to the author instance during the publish instance deployment

B. Perform the deployment on one publish instance at a time

C. Clear the CDN cache after the author instance deployment

D. Disable the replication agents during the deployment

Correct Answer: D
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